

Apartment in Marsascalea



Marsascalea, South



€425,000

Reference No: 240011147-201

 Total Rooms: 7

 Floor Area (m²) : 133

 Bathrooms: 2

 Bedrooms: 3

Apartment - For Sale - Marsascala

Situated in the sought-after Bella Vista area of Marsascala, this fully furnished 3-bedroom apartment offers a bright, comfortable, and well-designed living space ideal for families or as a rental investment. The property features a welcoming open-plan kitchen, living, and dining area that leads onto a good-sized front balcony, perfect for relaxing or entertaining. The layout includes a main bedroom with ensuite, two additional bedrooms, and a main bathroom. A back balcony provides extra outdoor space and natural ventilation. The apartment is served with a lift for added convenience and is being offered freehold. Located close to daily amenities, scenic walks, and public transport, this property combines practicality, style, and a great location making it a fantastic opportunity in Marsascala.

Features

- ✓ Lift
- ✓ En Suite
- ✓ Water Utility
- ✓ Soffit Ceilings
- ✓ PVC Piping
- ✓ Skirting
- ✓ Balcony
- ✓ Kitchen/Dinette
- ✓ Entrance Hall
- ✓ Electricity Utility
- ✓ Gypsum Plastering
- ✓ A/C
- ✓ Double Glazed
- ✓ Video Intercom

Rooms

- ✓ Kitchen/Living/Dining : 4.74 x 11.25 m (53.33 m²)
- ✓ Double Bedroom : 3.81 x 3.17 m (12.08 m²)
- ✓ Double Bedroom : 3.3 x 4.44 m (14.65 m²)
- ✓ Double Bedroom : 4.44 x 3.96 m (17.58 m²)
- ✓ Laundry : 1.95 x 1.75 m (3.41 m²)
- ✓ Bathroom : 2.27 x 2.66 m (6.04 m²)
- ✓ Shower Ensuite : 1.7 x 2.66 m (4.52 m²)
- ✓ Open Space : 5.73 x 1.3 m (7.45 m²)

✓ Open Space : 2.18 x 4.93 m (10.75 m²)

Gallery





Adrian Camilleri

RE/MAX Premium - St Julian's

M: 99865817

E: adrianc@remax.com.mt

T: 21384508

RE/MAX Premium - St Julian's

72/73, Gorg Borg Olivier Street, St Julian's, Malta